# MANATEE COUNTY GOVERNMENT INTENT TO AWARD

|  |  |  |  | + 1     |                                      |
|--|--|--|--|---------|--------------------------------------|
| SUBJECT  | Electric Motor and<br>Submersible Pump Repair<br>and Rewind Services | DATE POSTED  | DS 5<br>CC N   | 190     | 5 / SE<br>5 / SE                     |
| PURCHASING<br>REPRESENTATIVE                                   | Chris Daley, 749-3048  | DATE CONTRACT<br>SHALL BE AWARDED  | Seven d  | lays a  | fter the date Posted                 |
| DEPARTMENT   | County Wide  | CONSEQUENCES IF DEFERRED   | Delay  | in pro  | eject (                              |
| SOLICITATION   | IFB #14-2868CD   | AUTHORIZED BY DATE   |  | asing   | ndel, CPPO,<br>Official<br>2015      |
|  | NOTICE OF  | F INTENT TO AWARD  |  |         |                                      |
| an as required basis, to the lo \$600,000.00:                  | west, responsive, responsi   | Electric Motor and Submersible Pum<br>ble multiple bidders, for an estimat   |  |         |                                      |
| John Mader Enterprises, Inc., F                                | t. Myers, FL CEC Motor   | r & Utility Services, Palmetto, FL   |  |         |                                      |
|  | ENABLING/RE  | EGULATING AUTHORITY  |  |         |                                      |
| Federal/State law(s), admin                                    |  | nty Comp Plan/Land Development Code, o   | ordinance  | s, resc | lutions, policy.                     |
|  |  | County Code of Laws  |  |         |                                      |
|  |  | OUND/DISCUSSION<br>required basis, for the procurement   |  |         |                                      |
| urgent immediate need and                                      | the lowest priced bidder is<br>ocedures were followed re             | Vor submersible pump repair services unavailable, County staff may cont esulting in a total of four (4) bide Annual for Bid Award Purposes | act the  | next lo | owest bidder. Formal                 |
| John Mader Enterpises, Inc.                                    |  | 187,715.00   |  |         |                                      |
| Manatee County CEC Motor & Utility Service Mader Electric, Inc |  | 211,825.00<br>579,522.00   |  |         |                                      |
| Sarasota County Electro Mechanical South                       | \$   | 650,263.00   |  |         |                                      |
|  | stated in the IFB documents<br>or Bid award purposes liste           | s, was to the two (2) responsive and d on the Bid Form.  | respons  | sible r | nultiple bidders                     |
| This is not an exclusive                                       | agreement for the purchas  | acquisition of electric motor and s<br>e of new replacement motors and/o<br>agreement for the purchase of any                              | r subme  | ersible | pumps, and County                    |
|  | se services is funded from values for each Department.               | various funding sources such as Ge   | neral Fu   | ınd, U  | tility Fund, etc, with               |
| 4774644  |  |  | UD OF  | Vario   | us                                   |
| ATTACHMENTS (List in order of attached)                        | Tabulation   | FUNDING SOL<br>(Acct Number & N  | Santa Contract Contra |         | Funds Verified<br>Insufficient Funds |
| COST   | Estimated \$600,000.00   | AMT/FREQ OF RECURRING CO<br>(Attach Fiscal Impact State)   |  | N/A     |                                      |

|          |                                       |             |            | Inc.<br>18161 N. T | r Enterprises,<br>amiami Tr.<br>s, FL 33903 | CEC Motor 8<br>Services<br>1751 12th St<br>Palmetto, FL | reet East      | Mader Electric Inc.  East 7260 15th Street East |                | Electro Mechanical South<br>1575 Cattlemen Road #133<br>Sarasota, FL 34232 |                |
|----------|---------------------------------------|-------------|------------|--------------------|---|---|----------------|---|----------------|--|----------------|
| ITEM NO. | DESCRIPTION                           | U/M         | EST. QTY.  | UNIT<br>PRICE      | EXTENDED<br>PRICE                           |   | EXTENDED PRICE | UNIT<br>PRICE                                   | EXTENDED PRICE |  | EXTENDED PRICE |
|          | GROUP A- MOTOR ONLY                   | 8747        |            |                    |   | Hait  |                |   |                |  |                |
| 1        | 0-10 HP, 900 RPM                      | 7424        | Catalan    | Series :           | SESSES AND A                                | ATRICATED   | K 10 10 10     | ATTENDATED IN                                   | THE HOUSE      | ATTACKATION OF   |                |
|          | Recondition                           | Each        | 5          | \$25.00            | \$125.00                                    | \$113.00  | \$565.00       | \$410.00  | \$2,050.00     | \$393.00   | \$1,965.00     |
|          | Rewind                                | Each        | 3          |                    |   |   | \$1,131.00     |   | \$2,334.00     |  | \$2,457.00     |
| 2        | 0-10 HP, 1200 RPM                     | (1) (B) (B) | 35 K 0 1   | THE RESERVE        | BEOTE VEN                                   | 10年6月本元年1   | DEWNST BOOK    | <b>多下的位置三指示</b>                                 | 20200000       | 85056545   | ENHAL          |
|          | Recondition                           | Each        | 5          | \$25.00            | \$125.00                                    | \$106.00  | \$530.00       | \$355.00  | \$1,775.00     | \$370.00   | \$1,850.00     |
|          | Rewind                                | Each        | 3          |                    |   |   | \$1,062.00     |   | \$1,755.00     |  | \$1,848.00     |
| 3        | 0-10 HP, 1800 RPM                     | THE THE     | ATO THE SE |                    | HONELY TA                                   |   | atelatalia     | ATMINITORY                                      | Entwick in     | areferio.  |                |
| а        | Recondition                           | Each        | 15         | \$25.00            | \$375.00                                    | \$90.00   | \$1,350.00     | \$295.00  | \$4,425.00     | \$283.00   | \$4,245.00     |
| b        | Rewind                                | Each        | 10         |                    |   |   |                |   | \$4,480.00     |  | \$4,720.00     |
| 4        | 0-10 HP, Explosion Proof, 1800<br>RPM | 100         |            |                    |   |   |                |   |                |  |                |
| а        | Recondition                           | Each        | 5          | \$25.00            | \$125.00                                    | \$96.00   | \$480.00       | \$295.00  | \$1,475.00     | \$360.00   | \$1,800.00     |
| b        | Rewind                                | Each        | 3          | \$100.00           | \$300.00                                    | \$320.00  | \$960.00       | \$627.00  | \$1,881.00     | \$610.00   | \$1,830.00     |
| 5        | 0-10 HP, 3600 RPM                     | Tar a       |            | 14 H               |   |   | Marianta       |   |                |  | NEW YORK       |
| а        | Recondition                           | Each        | 10         | \$25.00            | \$250.00                                    | \$92.00   | \$920.00       | \$295.00  | \$2,950.00     | \$297.00   | \$2,970.00     |
| ь        | Rewind                                | Each        | 5          | \$100.00           | \$500.00                                    | \$308.00  | \$1,540.00     | \$494.00  | \$2,470.00     | \$510.00   | \$2,550.00     |
| 6        | 10.1 to 15 HP, 1800 RPM               | Partial     |            | 1, 7, 2, 1         |   |   |                |   | Paratata       | ARENTAY ST   | AND TOTAL TOP  |
| а        | Recondition                           | Each        | 5          | \$25.00            | \$125.00                                    | \$104.00  | \$520.00       | \$354.00  | \$1,770.00     | \$345.00   | \$1,725.00     |
| b        | Rewind                                | Each        | 5          | \$100.00           | \$500.00                                    | \$349.00  | \$1,745.00     | \$546.00  | \$2,730.00     | \$574.00   | \$2,870.00     |
| 7        | 15.1 to 20 HP, 1200 RPM               | ALC: N      |            | <b>报题的复数</b>       |   |   | <b>电影图图图</b>   |   |                |  |                |
| 8        | Recondition                           | Each        | 10         | \$25.00            | \$250.00                                    | \$132.00  | \$1,320.00     | \$410.00  | \$4,100.00     | \$376.00   | \$3,760.00     |
| b        | Rewind                                | Each        | 10         | \$100.00           | \$1,000.00                                  | \$441.00  | \$4,410.00     | \$791.00  | \$7,910.00     | \$834.00   | \$8,340.00     |
| 8        | 15.1 to 20 HP, 1800 RPM               | 8 8 9 1     | Maria Rate |                    |   | <b>多文性</b> 数7点  | Early Tally 5  |   | HT 8 TH TO 1   |  |                |
|          | Recondition                           | Each        | 5          |                    |   |   |                |   |                |  | \$1,880.00     |
| b        | Rewind                                | Each        | 5          | \$100.00           | \$500.00                                    | \$390.00  | \$1,950.00     | \$626.00  | \$3,130.00     | \$660.00   | \$3,300.00     |
| 9        | 20.1 to 25 HP, 1800 RPM               | 任何是代        | Tama Tama  | 1279794            |   | Water St.   |                | 1124747474                                      |                | MINITED SA   |                |
|          | Recondition                           | Each        | 5          |                    |   |   |                |   |                |  | \$2,095.00     |
|          | Rewind                                | Each        | 5          | \$100.00           | \$500.00                                    | \$436.00  | \$2,180.00     | \$715.00  | \$3,575.00     | \$745.00   | \$3,725.00     |
| 10       | 25.1 to 30 HP, 1800 RPM               | 87274       |            |                    | THE VEHICLE                                 | 17 27 27 27 2   | (Ce            |   | 祖母は世紀野温明       | The Line   |                |
|          | Recondition                           | Each        | 10         |                    |   |   |                |   |                |  | \$4,760.00     |
|          | Rewind                                | Each        | 10         | \$400.00           | \$4,000.00                                  | \$451.00  | \$4,510.00     | \$824.00  | \$8,240.00     | \$858.00   | \$8,580.00     |
| 11       | 25.1 to 30 HP, 3600 RPM               | 49.0        | TATE TATE  |                    |   | m - N - N - D   | PARMEDE SE     |   |                |  |                |
|          | Recondition                           | Each        | 5          |                    |   |   |                |   |                |  | \$2,450.00     |
| t        | Rewind                                | Each        | 2          | \$225.00           | \$450.00                                    | \$456.00  | \$912.00       | \$907.00  | \$1,814.00     | \$956.00   | \$1,912.00     |

|             |   |  |           | Inc.          | Mader Enterprises, CEC Motor & Utiliity Services  1 N. Tamiami Tr. 1751 12th Street East 7260 15th Street East |                  | Electro Mechanical South                  |                       |                    |               |                                       |
|-------------|---|--|-----------|---------------|--|------------------|---|-----------------------|--------------------|---------------|---------------------------------------|
|             |   | 18161 N. Tamiami Tr. 1751 12th Street East 7260 15th Street Eas<br>N. Ft Myers, FL 33903 Palmetto, FL 34221 Sarasota, FL 34243 |           |               | 1575 Cattlemen Road #133<br>Sarasota, FL 34232   |                  |   |                       |                    |               |                                       |
| ITEM NO.    | DESCRIPTION   | U/M  | EST. QTY. | UNIT<br>PRICE | EXTENDED PRICE   | UNIT<br>PRICE    | EXTENDED PRICE                            | UNIT<br>PRICE         | EXTENDED PRICE     | UNIT<br>PRICE | EXTENDED PRICE                        |
| 12          | 20 to 40 HP, <b>DUAL SPEED</b> , <b>700/900 RPM</b> |  |           |               |  | THIS HE          |   |                       |                    |               |                                       |
| а           | Recondition   | Each   | 1         | \$75.00       | \$75.00  | \$238.00         | \$238.00                                  | \$594.00              | \$594.00           | \$860.00      | \$860.00                              |
|             | Rewind  | Each   | 1         | \$225.00      | \$225.00   | \$795.00         | \$795.00                                  | \$1,562.00            | \$1,562.00         | \$1,434.00    | \$1,434.00                            |
| 13          | 30.1 to 40 HP, 1800 RPM                             | 0.8  | ile ala   |               |  | miniming         |   |                       |                    |               | HEFER                                 |
| a           | Recondition   | Each   | 2         | \$100.00      | \$200.00   | \$167.00         | \$334.00                                  | \$506.00              | \$1,012.00         | \$496.00      | \$992.00                              |
| b           | Rewind  | Each   | 2         | \$400.00      | \$800.00   | \$560.00         | \$1,120.00                                | \$995.00              | \$1,990.00         | \$912.00      | \$1,824.00                            |
| 14          | 40.1 to 50 HP, 900 RPM                              |  |           |               |  | winiplat         |   |                       |                    | nininini      |                                       |
| а           | Recondition   | Each   | 1         | \$100.00      | \$100.00   | \$215.00         | \$215.00                                  | \$736.00              | \$736.00           | \$990.00      | \$990.00                              |
| b           | Rewind  | Each   | 1         | \$500.00      | \$500.00   | \$710.00         | \$710.00                                  | \$1,787.00            | \$1,787.00         | \$1,790.00    | \$1,790.00                            |
| 15          | 40.1 to 50 HP, 1800 RPM                             | Tertain  |           |               |  |                  |   | All a Late Late       |                    |               |                                       |
| а           | Recondition   | Each   | 3         | \$100.00      | \$300.00   | \$177.00         | \$531.00                                  | \$506.00              | \$1,518.00         | \$751.00      | \$2,253.00                            |
| b           | Rewind  | Each   | 3         | \$500.00      | \$1,500.00   | \$590.00         | \$1,770.00                                |                       | \$3,564.00         | \$1,190.00    | \$3,570.00                            |
| 16          | 40.1 to 50 HP, 3600 RPM                             | 92430  | Part I    | TO VARIOUS    | A ALE ALE  | 74 15 25 15      | ALPIL PAGES IN                            | I WELL                | 14 4 5             | 1000 Bulleton |                                       |
| а           | Recondition   | Each   | 1         | \$75.00       | \$75.00  | \$168.00         | \$168.00                                  | \$506.00              | \$506.00           | \$790.00      | \$790.00                              |
|             | Rewind  | Each   | 1         | \$150.00      | \$150.00   |                  | \$560.00                                  |                       | \$1,307.00         | \$1,270.00    | \$1,270.00                            |
| 17          | 50.1 to 60 HP, 1800 RPM                             | 0.08.4   | #14.V.B   | H_H_H_H       | 18 8 8 8 8   | 10 0 0 0 0       | 2月1日日本日本日本日本日本日本日本日本日本日本日本日本日本日本日本日本日本日本日 | NEEDELLE LA           | DATE AND LIES      | 1000000       |                                       |
| а           | Recondition   | Each   | 2         | \$100.00      | \$200.00   | \$198.00         | \$396.00                                  | \$594.00              | \$1,188.00         | \$810.00      | \$1,620.00                            |
|             | Rewind  | Each   | 2         |               | \$600.00   |                  | \$1,318.00                                |                       |                    | \$1,390.00    | \$2,780.00                            |
| 18          | 50.1 to 60 HP, 3600 RPM                             | O LEGIS  | NEW BOOK  | wildings      |  | A STATE OF STATE | OF WARRED                                 | THE PLANE             | MEMERS NO.         | 08000410      | # # # # # # # # # # # # # # # # # # # |
| а           | Recondition   | Each   | 2         | \$75.00       | \$150.00   | \$177.00         | \$354.00                                  | \$506.00              | \$1,012.00         | \$860.00      | \$1,720.00                            |
|             | Rewind  | Each   | 2         | +             | \$300.00   |                  |   |                       |                    | \$1,496.00    | \$2,992.00                            |
| 19          | 60.1 to 75 HP, 900 RPM                              | 8 8 8  | TOTALL    | ATSTREE       | Tallulate 2  | TERMINE.         | THE WEST OF                               | 587e725e              |                    | Tell a Falla  |                                       |
| а           | Recondition   | Each   | 5         | \$75.00       | \$375.00   | \$629.00         | \$3,145.00                                | \$898.00              | \$4,490.00         | \$1,210.00    | \$6,050.00                            |
|             | Rewind  | Each   | 5         |               | \$1,500.00   |                  |   |                       |                    |               | \$12,450.00                           |
| 20          | 60.1 to 75 HP, 1800 RPM                             | 435,484  |           | WEEK-ES       | 1-1-1-1  |                  | enter de la late                          | 世 <sub>世</sub> 等是歷史學。 |                    | 747.7.20      |                                       |
| D.C. Harris | Recondition   | Each   | 5         | \$175.00      | \$875.00   | \$215.00         | \$1,075.00                                | \$594.00              | \$2,970.00         | \$980.00      | \$4,900.00                            |
| **          | Rewind  | Each   | 5         |               | \$3,000.00   |                  |   |                       |                    | \$1,624.00    | \$8,120.00                            |
| 21          | 60.1 to 75 HP, 3600 RPM                             | 2010   | ELT. BLUE |               | July Land Land   | 2010/03/02/02    | JAMES IN SEC.                             |                       | III SA SA SA SA SA | -1-1-1        |                                       |
|             | Recondition   | Each   | 5         | \$175.00      | \$875.00   | \$190.00         | \$950.00                                  | \$594.00              | \$2,970.00         | \$990.00      | \$4,950.00                            |
|             | Rewind  | Each   | 5         |               | \$2,000.00   |                  |   |                       |                    | \$1,780.00    | \$8,900.00                            |
| 22          | 75.1 to 100 HP, 1200 RPM                            |  |           | \$ 100.00     | <b>\$2,000.00</b>  | 4000.00          | 45,110.00                                 | V.,, 00.00            | \$5,110.00         | \$1,100.00    | 40,000.00                             |
|             | Recondition   | Each   | 2         | \$175.00      | \$350.00   | \$250.00         | \$500.00                                  | \$898.00              | \$1,796.00         | \$1,210.00    | \$2,420.00                            |
|             | Rewind  | Each   | 2         |               | \$800.00   |                  |   |                       |                    |               | \$4,952.00                            |
| D           | Ixemino   | rach   | 2         | \$400.00      | \$800.00   | \$834.00         | \$1,668.00                                | \$2,421.00            | \$4,842.00         | \$2,476.00    | \$4,9                                 |

|          |  |               |                    | John Made<br>Inc.<br>18161 N. T |                | 1751 12th Street East 7260 15th       |                           | Mader Electr   |                    | Electro Mechanical South 1575 Cattlemen Road #133 |                  |
|----------|--|---------------|--------------------|---------------------------------|----------------|---------------------------------------|---------------------------|--|--------------------|---|------------------|
|          |  |               |                    | N. Ft Myers                     | , FL 33903     | Palmetto, FL 34221 Sarasota, FL 34243 |                           | . 34243  | Sarasota, FL 34232 |   |                  |
| ITEM NO. | DESCRIPTION                              | U/M           | EST. QTY.          | UNIT<br>PRICE                   | EXTENDED PRICE | UNIT<br>PRICE                         | EXTENDED PRICE            | UNIT<br>PRICE  | EXTENDED PRICE     | UNIT<br>PRICE                                     | EXTENDED PRICE   |
| 23       | 75.1 to 100 HP, 1800 RPM                 | 48484         | 1202010            | housell.                        | JA A M. M.     | <b>PRINCED</b>                        | CARLES NATIONAL PROPERTY. | THE PERSON   |                    |   |                  |
|          | Recondition                              | Each          | 2                  | \$200.00                        | \$400.00       | \$234.00                              | \$468.00                  | \$736.00   | \$1,472.00         | \$1,210.00  | \$2,420.00       |
| b        | Rewind                                   | Each          | 2                  | \$1,100.00                      | \$2,200.00     | \$778.00                              |                           |  |                    | \$1,980.00  | \$3,960.00       |
| 24       | 100.1 to 125 HP, 900 RPM                 | 0.0747        | 和自用证明证明证           | AND DEVE                        | 从水声声。          | MERSHARI                              | 1. 为工作工程在图                | <b>阿山州山州</b> 夏州(2)   | DECEMBER.          | UP ZEWALL   | MONTH BROWN      |
| а        | Recondition                              | Each          | 2                  | \$200.00                        | \$400.00       | \$291.00                              | \$582.00                  | \$898.00   | \$1,796.00         | \$1,718.00  | \$3,436.00       |
|          | Rewind                                   | Each          | 1                  | \$2,000.00                      | \$2,000.00     | \$970.00                              |                           | d barrers and the same of the  |                    | \$3,420.00  |                  |
| 25       | 100.1 to 125 HP, 1800 RPM                | HERU.         | PARAMETERS.        | LINE TERM                       |                |                                       | CLULATINE.                | <b>ACTION DOLD</b>   | ELECTION AT        | DECLINE OF  |                  |
| а        | Recondition                              | Each          | 2                  | \$100.00                        | \$200.00       | \$275.00                              | \$550.00                  | \$736.00   | \$1,472.00         | \$1,310.00  | \$2,620.00       |
| b        | Rewind                                   | Each          | 1                  | \$490.00                        | \$490.00       | \$916.00                              | \$916.00                  |  |                    | \$2,190.00  |                  |
| 26       | 100.1 to 125 HP, 3600 RPM                | E## 8 8 8     |                    | iinia kal                       |                | <b>303313</b>                         | 2 3 2 1 1 1 1 2 1 1 2 1 1 | <b>BENDMERG</b>  | I A SWICE VA       | NOW, HIE  | apartwise to     |
| а        | Recondition                              | Each          | 2                  | \$300.00                        | \$600.00       | \$272.00                              | \$544.00                  | \$736.00   | \$1,472.00         | \$1,320.00  | \$2,640.00       |
| b        | Rewind                                   | Each          | 1                  | \$2,000.00                      |                |                                       |                           |  |                    |   |                  |
|          | 90 to 125 HP, DUAL SPEED<br>900/1200 RPM |               |                    |                                 |                |                                       |                           |  |                    |   | Milli            |
| а        | Recondition                              | Each          | 1                  | \$150.00                        | \$150.00       | \$303.00                              | \$303.00                  | \$898.00   | \$898.00           | \$2,870.00  | \$2,870.00       |
| b        | Rewind                                   | Each          | 1                  | \$1,600.00                      | \$1,600.00     | \$1,011.00                            | \$1,011.00                | \$2,879.00   | \$2,879.00         | \$4,980.00  | \$4,980.00       |
| 28       | 125.1 to 150 HP, 900 RPM                 | Tarat         | LESS MET           | STATE OF A ST                   |                | # 76 Ta 7 a 3                         | 0.0.0.0.0                 | all a 2 a feet   | 74 Tellalla        | 6 6 6 6   | alle Salle Salle |
| а        | Recondition                              | Each          | 1                  | \$200.00                        | \$200.00       | \$348.00                              | \$348.00                  | \$1,071.00   | \$1,071.00         | \$2,110.00  | \$2,110.00       |
| b        | Rewind                                   | Each          | 1                  | \$1,900.00                      | \$1,900.00     | \$1,161.00                            | \$1,161.00                | \$3,859.00   | \$3,859.00         | \$3,990.00  | \$3,990.00       |
| 29       | 125.1 to 150 HP, 1800 RPM                | Tall of       | Calla Sall         | STACHER                         | Tarata la      | SECTION SECTION                       | u Ew Eyr Pay Ess          | A PARTITION AND A STATE OF THE PARTIES AND A STA | TETETATATA         | A STANTA  | OTHER TURNS      |
| а        | Recondition                              | Each          | 1                  | \$200.00                        | \$200.00       | \$306.00                              | \$306.00                  | \$898.00   | \$898.00           | \$1,422.00  | \$1,422.00       |
| b        | Rewind                                   | Each          | 1                  | \$1,900.00                      | \$1,900.00     | \$1,025.00                            | \$1,025.00                | \$2,671.00   | \$2,671.00         | \$2,629.00  | \$2,629.00       |
| 30       | 125.1 to 150 HP, 1800 RPM, 2300<br>Volts | 0 H 0         |                    |                                 |                |                                       | 14420                     |  |                    |   | elektrist.       |
| а        | Recondition                              | Each          | 1                  | \$250.00                        | \$250.00       | \$495.00                              | \$495.00                  | \$2,289.00   | \$2,289.00         | \$1,825.00  | \$1,825.00       |
| b        | Rewind                                   | Each          | 1                  | \$3,500.00                      | \$3,500.00     | \$1,650.00                            | \$1,650.00                | \$7,631.00   | \$7,631.00         | \$4,496.00  | \$4,496.00       |
| 31       | 150.1 to 175 HP, 1800 RPM                | 12000         | P. P. B. B. B.     | V-REE-W                         | (OLOUB)        | Cheminin                              | (ROMORDE)                 | CHEMONS  | SECOND A           | DEL ROTTE   | THE RESIDENCE    |
| а        | Recondition                              | Each          | 1                  | \$50.00                         | \$50.00        | \$306.00                              | \$306.00                  | \$898.00   | \$898.00           | \$1,422.00  | \$1,422.00       |
| b        | Rewind                                   | Each          | 1                  | \$50.00                         | \$50.00        | \$1,025.00                            | \$1,025.00                | \$2,671.00   | \$2,671.00         |   | \$2,629.00       |
| 32       | 175.1 to 200 HP, 900 RPM                 | W-DESCRIPTION | GO OF THE PARTY OF |                                 |                | in alaya                              | n nun pu                  | Calutter of  | windelet           | inimimis  | isin n'n n       |
| а        | Recondition                              | Each          | 2                  | \$250.00                        | \$500.00       | \$490.00                              | \$980.00                  | \$1,071.00   | \$2,142.00         | \$1,976.00  | \$3,952.00       |
|          | Rewind                                   | Each          | 1                  | \$2,400.00                      | \$2,400.00     |                                       |                           |  |                    |   |                  |
| 33       | 175.1 to 200 HP, 1800 RPM                | 1 0 0         |                    | 101010                          |                | The second of                         | To a select               | TWENTER  | BERRETA            | Thillestoria                                      |                  |
| а        | Recondition                              | Each          | 2                  | \$250.00                        | \$500.00       | \$337.00                              | \$674.00                  | \$898.00   | \$1,796.00         | \$1,620.00  | \$3,240.00       |
|          | Rewind                                   | Each          | 2                  |                                 | \$2,600.00     |                                       |                           |  |                    |   |                  |

|          |  |        |             | John Made<br>Inc.<br>18161 N. T. |   | Services Mader Electric Inc.  1751 12th Street East 7260 15th Street East |                 | 5.110.CE-5.460.0   | Electro Mechanical South |                    |                |
|----------|--|--------|-------------|----------------------------------|---|---|-----------------|--------------------|--------------------------|--------------------|----------------|
|          |  |        |             | N. Ft Myers                      |   | Palmetto, FL  |                 | Sarasota, FL 34243 |                          | Sarasota, FL 34232 |                |
| ITEM NO. | DESCRIPTION  | U/M    | EST. QTY.   | UNIT<br>PRICE                    | EXTENDED PRICE                          | UNIT<br>PRICE   | EXTENDED PRICE  | UNIT<br>PRICE      | EXTENDED PRICE           | UNIT<br>PRICE      | EXTENDED PRICE |
| 34       | 175.1 to 200 HP, 3600 RPM                              | Alland | faratur.    |                                  | P.R.N.N.                                | SEMPLE  |                 | TERMINE PAR        | RUALA ITA                | Tartare to         | BETHER BYETS   |
| а        | Recondition  | Each   | 1           | \$200.00                         | \$200.00                                | \$322.00  | \$322.00        | \$898.00           | \$898.00                 | \$1,670.00         | \$1,670.00     |
| b        | Rewind   | Each   | 1           | \$200.00                         | \$200.00                                | \$1,077.00  | \$1,077.00      | \$3,944.00         | \$3,944.00               | \$3,670.00         | \$3,670.00     |
| 35       | 200.1 to 250 HP, 900 RPM                               | 10000  | JEST EN     | HI HIEVE                         |   | BTATATAT  | ELECTION OF THE | <b>医以现以可以可以</b>    | <b>以明正常以明正帝</b> 。        | きは外以代目をよ           | Kurubar-ni     |
| а        | Recondition  | Each   | 1           | \$200.00                         | \$200.00                                | \$490.00  | \$490.00        | \$1,071.00         | \$1,071.00               | \$2,320.00         | \$2,320.00     |
| b        | Rewind   | Each   | 1           | \$200.00                         | \$200.00                                | \$1,635.00  | \$1,635.00      | \$5,864.00         | \$5,864.00               | \$5,710.00         | \$5,710.00     |
| 36       | 200.1 to 250 HP, 900 RPM, 4160<br>Volts                |        |             |                                  |   |   |                 |                    |                          |                    |                |
| а        | Recondition  | Each   | 1           | \$200.00                         | \$200.00                                | \$630.00  | \$630.00        | \$3,739.00         | \$3,739.00               | \$2,510.00         | \$2,510.00     |
|          | Rewind   | Each   | 1           | \$200.00                         | \$200.00                                |   | \$2,100.00      | \$12,466.00        |                          | \$9,990.00         | \$9,990.00     |
| 37       | 250.1 to 300 HP, 1200 RPM, 2300<br>Volts               |        |             |                                  |   |   |                 |                    |                          |                    |                |
| а        | Recondition  | Each   | 3           | \$300.00                         | \$900.00                                | \$677.00  | \$2,031.00      | \$3,198.00         | \$9,594.00               | \$2,120.00         | \$6,360.00     |
| b        | Rewind   | Each   | 3           | \$3,900.00                       | \$11,700.00                             |   | \$6,771.00      |                    | \$31,986.00              | \$8,950.00         | \$26,850.00    |
| 38       | 250.1 to 300 HP, 1800 RPM, 2300<br>Volts               | 111    | TEL TEL     | in the latest                    | Hall                                    | W 10 10 10 10 10 10 10 10 10 10 10 10 10                                  |                 |                    |                          | MERCEN.            |                |
| а        | Recondition  | Each   | 2           | \$400.00                         | \$800.00                                | \$630.00  | \$1,260.00      | \$2,806.00         | \$5,612.00               | \$2,120.00         | \$4,240.00     |
| b        | Rewind   | Each   | 2           | \$4,800.00                       | \$9,600.00                              | \$2,100.00  | \$4,200.00      | \$9,354.00         |                          | \$8,370.00         | \$16,740.00    |
| 39       | 250.1 to 300 HP, 1800 RPM                              | ASAST  | LATE TO     |                                  |   | <b>企业品种品表示</b> 图  | 19-19-19-29-10  |                    |                          | 10000              | Nation D.      |
| а        | Recondition  | Each   | 2           | \$300.00                         | \$600.00                                | \$437.00  | \$874.00        | \$1,071.00         | \$2,142.00               | \$1,990.00         | \$3,980.00     |
| b        | Rewind   | Each   | 2           | \$1,200.00                       | \$2,400.00                              | \$1,457.00  | \$2,914.00      | \$4,751.00         | \$9,502.00               | \$4,820.00         | \$9,640.00     |
| 40       | 300.1 to 350 HP, 1200 RPM                              | F-3834 | W. W. H. W. |                                  | A PLUT ML                               | 48-020-0  | 4 4 4 4         | MA STATE           | DEM ER                   | <b>经销售费品的复数</b>    |                |
| а        | Recondition  | Each   | 5           | \$500.00                         | \$2,500.00                              | \$464.00  | \$2,320.00      | \$1,071.00         | \$5,355.00               | \$3,416.00         | \$17,080.00    |
| b        | Rewind   | Each   | 5           | \$3,900.00                       | \$19,500.00                             | \$1,548.00  | \$7,740.00      | \$6,192.00         | \$30,960.00              | \$6,520.00         | \$32,600.00    |
| 41       | 350.1 to 400 HP, 1800 RPM                              | 18 9   |             |                                  |   | <b>计算 被二块了</b> 相  | EMIT FOR        |                    |                          | THEATHER           |                |
|          | Recondition  | Each   | 1           | 4100.00                          | \$100.00                                |   |                 | \$1,071.00         |                          | \$3,416.00         | \$3,416.00     |
|          | Rewind   | Each   | 1           | \$100.00                         | \$100.00                                | \$1,635.00  | \$1,635.00      | \$5,803.00         | \$5,803.00               | \$5,990.00         | \$5,990.00     |
| 42       | 400.1 to 450 HP, 1800 RPM                              | N.C.   | A TATAL     | A CONTRACTOR                     |   |   | THE WATER       | SETATATA           | HET A TIME TO            | TET STATE          |                |
| а        | Recondition  | Each   | 1           | 4.00.00                          |   |   |                 | \$1,071.00         |                          | \$3,416.00         | \$3,416.00     |
| b        | Rewind   | Each   | 1           | \$100.00                         | \$100.00                                | \$1,710.00  | \$1,710.00      | \$6,409.00         | \$6,409.00               | \$5,990.00         | \$5,990.00     |
| 43       | 450.1 to 500 HP, <b>1200 RPM, 4160</b><br><b>Volts</b> | 1      |             |                                  |   |   |                 |                    |                          |                    |                |
| а        | Recondition  | Each   | 2           |                                  |   |   |                 | \$4,446.00         | \$8,892.00               | \$4,260.00         | \$8,520.00     |
| b        | Rewind   | Each   | 2           | \$6,100.00                       | \$12,200.00                             | \$2,776.00  | \$5,552.00      | \$14,821.00        | \$29,642.00              | \$10,737.00        | \$21,474.00    |
| 44       | 500.1 to 550 HP, 1800 RPM                              |        |             | 12 E 1 E 1 E 1                   | 100100000000000000000000000000000000000 | おっちょりょう。  |                 |                    |                          |                    |                |
| а        | Recondition  | Each   | 1           | \$100.00                         | \$100.00                                | \$513.00  | \$513.00        | \$1,071.00         | \$1,071.00               | \$3,430.00         | \$3,430.00     |
| b        | Rewind   | Each   | 1           | \$100.00                         | \$100.00                                | \$1,710.00  | \$1,710.00      | \$6,957.00         | \$6,957.00               | \$6,860.00         | \$6,860.00     |

|          |  |          |                 | Inc.<br>18161 N. T |                           | S, CEC Motor & Utiliity<br>Services<br>1751 12th Street East<br>Palmetto, FL 34221 |                | Mader Electric Inc.<br>7260 15th Street East<br>Sarasota, FL 34243 |                | Electro Mechanical South<br>1575 Cattlemen Road #133<br>Sarasota, FL 34232 |                  |
|----------|--|----------|-----------------|--------------------|---------------------------|--|----------------|--|----------------|--|------------------|
| ITEM NO. | DESCRIPTION  | U/M      | EST. QTY.       | UNIT<br>PRICE      | EXTENDED PRICE            | UNIT<br>PRICE  | EXTENDED PRICE | UNIT<br>PRICE  | EXTENDED PRICE | UNIT<br>PRICE  | EXTENDED PRICE   |
| 45       | 550.1 to 600 HP, <b>1200 RPM, 4160</b><br><b>Volts</b> |          |                 |                    |                           |  |                |  | Milita         |  |                  |
| а        | Recondition  | Each     | 2               | \$400.00           | \$800.00                  | \$901.00   | \$1,802.00     | \$4,856.00   | \$9,712.00     | \$4,290.00   | \$8,580.00       |
| b        | Rewind   | Each     | 2               | \$6,100.00         | \$12,200.00               | \$3,003.00   | \$6,006.00     | \$16,188.00  | \$32,376.00    | \$14,200.00  | \$28,400.00      |
|          | SUBTOTAL FOR GROUP A-                                  | THE      |                 | STERME             | \$127,190.00              | a managaran  | \$136,038.00   | REALISTA   | \$442,050.00   |  | \$458,846.00     |
| Engala)  | GROUP B- MOTOR- PUMP COMBO                             |          |                 | Alelole            | Leatter.                  |  |                | Inluduia   |                |  |                  |
| 46       | 0-10 HP, 1200 RPM                                      | REGIS    |                 |                    |                           |  |                | [BISICIAL  |                |  |                  |
| а        | Rewind   | Each     | 1               | \$300.00           | \$300.00                  | \$523.00   | \$523.00       | \$926.00   | \$926.00       | \$1,975.00   | \$1,975.00       |
| 47       | 0-10 HP, <b>1800 RPM</b>                               | BALLETIE | ليد الأثاثار    |                    |                           |  |                | (20 = 20 = 40 × 3)   | 0.000000000    |  |                  |
| а        | Rewind   | Each     | 10              | \$700.00           | \$7,000.00                | \$488.00   | \$4,880.00     | \$689.00   | \$6,890.00     | \$1,790.00   | \$17,900.00      |
| 48       | 0-10 HP, 3600 RPM                                      | BTBSE    | e e le le le le | all plants         |                           | Catalaga   | M MARTE        | THE STREET   | BUTTERSE       | Tellie telle   | THE MINE A       |
|          | Rewind   | Each     | 5               | \$300.00           | \$1,500.00                | \$503.00   | \$2,515.00     | \$756.00   | \$3,780.00     | \$1,790.00   | \$8,950.00       |
| 49       | 10.1-15 HP, <b>1800 RPM</b>                            | M M P    | This case       | E Park             |                           |  | a balla la la  | TeleTeleTe   | alalalala      | Tellarette   | National Parties |
|          | Rewind   | Each     | 5               | \$600.00           | \$3,000.00                | \$593.00   | \$2,965.00     | \$809.00   | \$4,045.00     | \$1,896.00   | \$9,480.00       |
| 50       | 15.1-20 HP, <b>1800 RPM</b>                            | a Talle  | CATACAS A       | W. C. C.           | SATISTATES.               | FARMERS  | CASASASAS      | Teratata ta  | 11111111111    | Est grata  | TATAZATETE       |
|          | Rewind   | Each     | 5               | \$700.00           | \$3,500.00                | \$618.00   | \$3,090.00     | \$986.00   | \$4,930.00     | \$1,896.00   | \$9,480.00       |
| 51       | 15.1-20 HP, 3600 RPM                                   | 1076     | TATAL STE       |                    | The state of the state of | TATED OF V   | Saturation.    | Tata Tata  | 7.545.00       | TATAPARA   |                  |
|          | Rewind   | Each     | 2               | \$400.00           | \$800.00                  | \$608.00   | \$1,216.00     | \$1,086.00   | \$2,172.00     | \$1,896.00   | \$3,792.00       |
| 52       | 20.1-25 HP, 1800 RPM                                   |          | - PAPERE        |                    | PARAPAPAR                 | BUR STARD  | · 人名贝里人巴人巴人巴人  | <b>建设市公司上面</b> 。   | SHEEL HIS      | <b>产业的业务业务</b> 。   | BURE BUREFLE     |
|          | Rewind   | Each     | 3               | \$750.00           | \$2,250.00                | \$706.00   | \$2,118.00     | \$1,131.00   | \$3,393.00     | \$2,668.00   | \$8,004.00       |
| 53       | 25.1-30 HP, <b>1800 RPM</b>                            |          | 1292550         |                    | 88 20 KB 20 7             | PAREFURN   |                |  |                | A THE PARTY.   |                  |
|          | Rewind   | Each     | 2               | \$750.00           | \$1,500.00                | \$711.00   | \$1,422.00     | \$1,292.00   | \$2,584.00     | \$2,798.00   | \$5,596.00       |
| 54       | 30.1-40 HP, <b>1200 RPM</b>                            |          | MARAH ME        |                    |                           |  |                | Day of the last  |                | 100000000000000000000000000000000000000                                    |                  |
|          | Rewind   | Each     | 1               | \$400.00           | \$400.00                  | \$876.00   | \$876.00       | \$1,815.00   | \$1,815.00     | \$2,903.00   | \$2,903.00       |
| 55       | 30.1-40 HP, <b>1800 RPM</b>                            |          |                 | TOTAL PROPERTY.    | #E#E#E#E#                 |  |                | Bin 等负等之类以   | 1111111111111  |  |                  |
|          | Rewind   | Each     | 2               | \$750.00           | \$1,500.00                | \$876.00   | \$1,752.00     | \$1,489.00   | \$2,978.00     | \$2,903.00   | \$5,806.00       |
| 56       | 30.1-40 HP, <b>3600 RPM</b>                            | 1.8(7.8) | 0.4.9.060       |                    |                           | mid min  |                | 1-0-9-9-   | E4 - 8 - 8 - 8 | ecepena.   | TA BER           |
|          | Rewind   | Each     | 2               | \$100.00           | \$200.00                  | \$831.00   | \$1,662.00     | \$1,638.00   | \$3,276.00     | \$2,903.00   | \$5,806.00       |
| 57       | 40.1-50 HP, <b>1800 RPM</b>                            |          |                 |                    |                           | mining   |                |  | B. B. B. B.    | ROBER BOR  |                  |
| 1        | Rewind   | Each     | 1               | \$750.00           | \$750.00                  | \$890.00   | \$890.00       | \$1,797.00   | \$1,797.00     | \$3,610.00   | \$3,610.00       |
| 58       | 50.1-60 HP, <b>1800 RPM</b>                            | 1. 株八県   | a m mind        | THE RES            |                           |  |                |  | n n n          | minute Tell  |                  |
|          | Rewind   | Each     | 2               | \$750.00           | \$1,500.00                | \$1,123.00   | \$2,246.00     | \$2,147.00   | \$4,294.00     | \$3,980.00   | \$7,960.00       |
| 59       | 60.1-75 HP, 1800 RPM                                   | 7454     |                 | 44 400 55          | 00.000.00                 | 01 100 ==  | 40.000.55      | 00.470.00  | 0101000        | 04.000.00  | 40 707 55        |
| 1======  | Rewind   | Each     | 2               | \$1,100.00         | \$2,200.00                | \$1,168.00   | \$2,336.00     | \$2,470.00   | \$4,940.00     | \$4,390.00   | \$8,780.00       |
| 60       | 75.1-100 HP, <b>1200 RPM</b>                           |          |                 |                    |                           | 20 20 20 20 20   | and terminal   | and a hart each  |                |  |                  |
| a        | Rewind   | Each     | 1               | \$800.00           | \$800.00                  | \$1,216.00   | \$1,216.00     | \$3,504.00   | \$3,504.00     | \$4,450.00   | \$4,450.00       |

|             |   |             |                | John Made<br>Inc.         | r Enterprises,                | Services                     |                | Mader Electr                 | Mader Electric Inc.         |  | nanical South  |
|-------------|---|-------------|----------------|---------------------------|-------------------------------|------------------------------|----------------|------------------------------|-----------------------------|--|----------------|
|             |   |             |                | 18161 N. T<br>N. Ft Myers | SHORTH-DURANTING CONTROL      | 1751 12th St<br>Palmetto, FL |                | 7260 15th St<br>Sarasota, FL | -0400040041000-1100-0100101 | 1575 Cattlemen Road #133<br>Sarasota, FL 34232 |                |
| ITEM NO.    | DESCRIPTION   | U/M         | EST. QTY.      | UNIT<br>PRICE             | EXTENDED PRICE                | UNIT<br>PRICE                | EXTENDED PRICE | UNIT<br>PRICE                | EXTENDED PRICE              | UNIT   | EXTENDED PRICE |
| 61          | 75.1-100 HP, 1800 RPM   | MINE        | fulfulfulfat   | CF LF CF LF               | TOPINE TOUR                   | BESTONES.                    | ASSESSED FOR   | ASSESSMENT TO                | OTLEUN;                     | Ramana a                                       | SERVICE STATE  |
| A11.10.00.0 | Rewind  | Each        | 2              | \$1,100.00                | \$2,200.00                    | \$1,188.00                   | \$2,376.00     | \$2,884.00                   | \$5,768.00                  | \$4,820.00                                     | \$9,640.00     |
| 62          | 100.1-125 HP, 1800 RPM  | 19:45       | FLB DALGE      |                           | Market Doctor                 | WINDSON.                     |                |                              | EFLY HIT                    | F1919181                                       | MARKET TO      |
|             | Rewind  | Each        | 1              | \$100.00                  | \$100.00                      | \$1,431.00                   | \$1,431.00     | \$3,523.00                   | \$3,523.00                  | \$4,920.00                                     | \$4,920.00     |
| 63          | 125.1-150 HP, 1800 RPM  | . 11 . 11 . | RA modada      | CKWOREST                  | PARTICIPATION OF THE PARTIES. | <b>単いないあに取る</b>              | TARABARA BARA  | TO WAR THE STREET            | ENGTS DE                    | 明日明五年大學  | MANAGE TO      |
|             | Rewind  | Each        | 1              | \$100.00                  | \$100.00                      | \$1,507.00                   | \$1,507.00     | \$4,160.00                   | \$4,160.00                  | \$5,120.00                                     | \$5,120.00     |
| 64          | 150.1-175 HP, 1800 RPM  | 40.00       | ( = 4 6        | CWAN - WG                 | eselata.                      | 4 9 9 9                      | rea A. Bon     | t- non-hard                  | 2.据文图 / 图 / 年               | ROP-19-19-1                                    | ALWIA A A      |
|             | Rewind  | Each        | 1              | \$100.00                  | \$100.00                      | \$1,721.00                   | \$1,721.00     | \$4,823.00                   | \$4,823.00                  | \$5,120.00                                     | \$5,120.00     |
| 65          | 175.1-200 HP, 1800 RPM  | THE RES     | C-D-BCD        | Service Service           | ne e e e                      | CAT KY IS II                 | 0.00           | BRASSES A                    | 178-0-2010                  | NAME OF  | n-dia-y-a-     |
|             | Rewind  | Each        | 1              | \$100.00                  | \$100.00                      | \$1,785.00                   | \$1,785.00     | \$6,087.00                   | \$6,087.00                  | \$6,275.00                                     | \$6,275.00     |
| 66          | 200.1-250 HP, 1800 RPM  | Lagit       | To be a        | <b>\$100.00</b>           |                               |                              |                | ETIA HATTA                   |                             | mana amana                                     |                |
|             | Rewind  | Each        | 1              | \$100.00                  | \$100.00                      | \$1,891.00                   | \$1,891.00     | \$6,087.00                   | \$6,087.00                  | \$6,875.00                                     | \$6,875.00     |
| 67          | 250.1-300 HP, 1800 RPM  |             | Catalan        | Total and                 | 1 1 1 1 1 1 1                 |                              | Termonia.      | hind in con-                 |                             | niminini                                       |                |
|             | Rewind  | Each        | ,              | \$700.00                  | \$1,400.00                    | \$1,997.00                   | \$3,994.00     | \$7,100.00                   | \$14,200.00                 | \$7,250.00                                     | \$14,500.00    |
| а           | Rewind  | Each        | Z Z            | \$700.00                  | \$1,400.00                    | \$1,997.00                   | \$3,994.00     | \$7,100.00                   | \$14,200.00                 | \$7,250.00                                     | \$14,500.00    |
|             | SUBTOTAL FOR GROUP B  | Total       | Majaja i       | College College           | \$31,300.00                   |                              | \$44,412.00    |                              | \$95,972.00                 |  | \$156,942.00   |
|             | MACHINE LABOR   | 1444        | MITS SELECTION | <b>FULL</b>               |                               | 37.57.57.250                 | 9万年出年15年13年    | 11414141                     |                             | 共立がしかしま  | MINIMEN.       |
| 68          | Percentage Markup for parts required to complete the Rewind or Recondition services of Electric Motors or Submersible Pumps (% Markup shall not exceed 15%) | %<br>Markup | \$10,000.00    | 15.00%                    | \$11,500.00                   | 15.00%                       | \$11,500.00    | 10.00%                       | \$11,000.00                 | 15.00%   | \$11,500.00    |
| 69          | Hourly Labor Rates (Shop, field, and machine shop)  | Hour        | 500            | \$35.00                   | \$17,500.00                   | \$39.00                      | \$19,500.00    | \$60.00                      | \$30,000.00                 | \$45.00  | \$22,500.00    |
| 70          | Emergency Labor rates (when repairs are required in 48 hours or less)   | Hour        | 5              | \$45.00                   | \$225.00                      | \$75.00                      | \$375.00       | \$100.00                     | \$500.00                    | \$95.00  | \$475.00       |
|             | SUBTOTAL FOR GROUP C  |             |                |                           | \$29,225.00                   |                              | \$31,375.00    |                              | \$41,500.00                 |  | \$34,475.00    |
|             | TOTAL FOR BID AWARD<br>PURPOSES (GROUPS A+B+C)  |             |                |                           | <b>\$187,715.00</b>           |                              | \$211,825.00   |                              | \$579,522.00                |  | \$650,263.00   |

|                                    | John Mader Enterprises, Inc. | CEC Motor & Utiliity Services | Mader Electric Inc.   | Electro Mechanical South   |
|------------------------------------|------------------------------|-------------------------------|-----------------------|----------------------------|
|                                    | 18161 N. Tamiami Tr.         | 1751 12th Street East         | 7260 15th Street East | 1575 Cattlemen Road #133   |
|                                    | N. Ft Myers, FL 33903        | Palmetto, FL 34221            | Sarasota, FL 34243    | Sarasota, FL 34232         |
|                                    |                              |                               |                       | MOTOR OR SUBMERSIBLE PUM   |
| MANUFACTURER                       |                              |                               |                       | R FIXED DISCOUNT % OFF MSR |
| ABS                                | 10%                          | 0%                            | 10%                   | 15% Over Cost              |
| Baldor                             | 25%                          | 0%                            | 25%                   | 15% Over Cost              |
| Century                            | 25%                          | 0%                            | 25%                   | 15% Over Cost              |
| Continental                        | 5%                           | 0%                            | 10%                   | 15% Over Cost              |
| Dynamtic                           | 5%                           | 0%                            | 10%                   | 15% Over Cost              |
| Eaton                              | 5%                           | 0%                            | 10%                   | 15% Over Cost              |
| EIM                                | 5%                           | 0%                            | 10%                   | 15% Over Cost              |
| Emerson                            | 5%                           | 0%                            | 10%                   | 15% Over Cost              |
| Flyght                             | 20%                          | 0%                            | 10%                   | 15% Over Cost              |
| Franklin                           | 15%                          | 0%                            | 10%                   | 15% Over Cost              |
| General Electric                   | 5%                           | 0%                            | 10%                   | 15% Over Cost              |
| Goulds                             | 25%                          | 0%                            | 10%                   | 15% Over Cost              |
| Hydromatic                         | 10%                          | 0%                            | 10%                   | 15% Over Cost              |
| Ingersoll Rand                     | 15%                          | 0%                            | 10%                   | 15% Over Cost              |
| Leeson                             | 25%                          | 0%                            | 25%                   | 15% Over Cost              |
| Limitorque                         | 10%                          | 0%                            | 10%                   | 15% Over Cost              |
| Nord                               | 10%                          | 0%                            | 10%                   | 15% Over Cost              |
| Marathon                           | 25%                          | 0%                            | 25%                   | 15% Over Cost              |
| Reliance                           | 25%                          | 0%                            | 25%                   | 15% Over Cost              |
| SEW- Euro Drive                    | 20%                          | 0%                            | 10%                   | 15% Over Cost              |
| TECO                               | 10%                          | 0%                            | 10%                   | 15% Over Cost              |
| Toshiba                            | 10%                          | 0%                            | 10%                   | 15% Over Cost              |
| US Electric Motors                 | 20%                          | 0%                            | 10%                   | 15% Over Cost              |
| Westinghouse                       | 10%                          | 0%                            | 10%                   | 15% Over Cost              |
| Any other Manufacturer not Listed: |                              | 0%                            | 25%                   | 15% Over Cost              |
| Wila-EMU                           | 15%                          |                               |                       |                            |
| Keen                               | 25%                          |                               |                       | 1                          |
| KSB                                | 10%                          |                               |                       | 1                          |
| Power Torque                       | 25%                          |                               |                       |                            |
| Fasco                              | 25%                          |                               |                       |                            |
| Aurora                             | 10%                          |                               |                       |                            |
| Flowserve                          | 20%                          |                               |                       | 8                          |
| Berkeley                           | 25%                          |                               | T                     |                            |
| Peerless                           | 10%                          |                               |                       | i e                        |
| Dodge                              | 10%                          |                               |                       |                            |
| Worldwide                          | 25%                          |                               |                       |                            |
| Hyundai                            | 25%                          |                               |                       |                            |
| Barnes                             | 10%                          | 1                             | Ì                     | 701 A 200-000              |
| Homa                               | 5%                           |                               |                       | 1                          |

Mader Electric Inc.

Electro Mechanical South

John Mader Enterprises, Inc. | CEC Motor & Utility Services

|  | 18161 N. Tamiami Tr.<br>N. Ft Myers, FL 33903 | 1751 12th Street East<br>Palmetto, FL 34221         | 7260 15th Street East<br>Sarasota, FL 34243 | 1575 Cattlemen Road #133<br>Sarasota, FL 34232   |
|--|---|---|---|--|
| MANUFACTURER   |   | ARE OFFERED FOR THE PUR<br>FIXED DISCOUNT % OFF MSR |   |  |
|  |   |   | THE BIOCOCK TO SET MICH                     | The state of the s |
| Acknowledge Addendum #1  | Yes   | Yes   | Yes   | Yes  |
| Acknowledge Addendum #2  | Yes   | Yes   | Yes   | Yes  |
| Acknowledge Addendum #3  | Yes   | Yes   | Yes   | Yes  |
| Registered with Florida Department of State, Division of Corporations for at least two (2) continuous years. | Yes   | Yes   | Yes   | Yes  |
| Vendor is Certified as an "Explosion<br>Proof UL Facility" for two (2)<br>continuous years                   | No  | No  | No  | No   |
| Vendor's Subcontractor is Certified as an "Explosion Proof UL Facility"                                      | Power Flow Technologies                       | Yes- Tampa Armature Works                           | Stewarts Electic Motor Works                | Yes- Westside Electric Inc.  |

Keyed and Checked By:

for two (2) continuous years

4/9/2015

Chris Daley, CPPO, CPPB-Contract Specialist

Date